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[ 50 Laplacel U

5.1 OO0

0000 F(t) O Laplace0 O (Laplace transform) 0 0000000000 O:

Fs) = L{F(t)} = /Ox e () dt. (5.1)

gdb,sdgoggobn.

5.2 UUOOO0OO

1. Fourier 0000000 OOOOO F(t) O Fourter 0 OO

[ @]

F(w) = /_ e P (L) dt (5.2)

[ @]

O0000.) 000000000000000000000, Fourier 00
O Laplace 00O 0ODOO0O,0000000OO0O0OOODODDODOOOODOOO
O0000D0.000000000000 FourterOOO ., 00000000
00 Laplace DO O0O00O0O0O0ODOODOOOOO. Fourier O OO Fourier
OO000O00oO0OoO0oO0bOonoon, LaplaceD OO Fourter OO ODOOOO
ooooooo.

2. 00000,0000 OLaplacedO0O, FourterO OO OO0,

oo

£(s) = L{F(t)} = / (1) dt. (5.3)

0000,00000000 -~ 00 «c00000000000000.
000000000 F(H) O

F(t)=0, (t<0) (5.4)

'D00000 Fourier 000DO0O (2.10)0,000,000000000000000000.
0000 LaplaceD 00 Fourtier 00000000000 ODOO,000 1/V/2s00000000
go.
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Oo0oooo0o0,0000o0000oo0oooDooD. 00oo, ((k1)o
00000 LaplaceO OO OO

Laplace D000 DO0O ¢t 0000 0O0O0O0ODOOOO, LaplaceO OO OO
gooboboboobooboobobboooobboooobooobbooog
goob.0bobooboooogo,obooooobooooooog, ™
000000000000 DO0ODO0OO0DOO0O00. LaplaceD OO DO0ODOODO
goooobooog, LaplaceJ0D00O0OODOO0OODO ¢t=0000000
goobboobhbOo0o0ooooooo,ggogbogogoooboooog
ooooooooo.?

3. s00000D0 :Laplace00D00DOOODOOODODO,sODODOODOO
OO00,0000000000.00 LaplaceDOODOOOOt—00000O
gbbd oooobbouooooob.

4. 0 Laplace0 0 : Laplace0 00000 (5.3)0,s=0+iw (000, 0, wO
00)0000, (5.3) 0

flotiw) = L{F()} = / ot () dt
_ / e~ P()e= dt (5.5)

000.00000, flo4iw) O F(t)e ™ O Fourler 000000000
O00. O FowierO0OOOO, F(t)e " O

[~ .
F(t)e ™" = py e fo+iw) dw
gogoog.goon,
1 [~ .
F(t)= %/ e(‘”"“)tf(a + iw) dw (5.6)
god.oood,
1 o+ico .
F(t):E/ - e f(s)ds (5.7)

Fourier 0000000000000 OODOOOO »0000.00000000 2000
go,dooooobbooobbobobbboobboboob,0oboboobo. gbobaob
ooooboooOOoo0obooobDoobD FourerO0oooooOOoooOOobODOOO. ODODOOO,
gooob+000,000boboooobooog, b0 boobooo tbboooo
O00000000000.00000 Foureir 00000000000 OODODODO.(5.2)00
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0 5.1: Laplace D 0O O OO

F (i L{F0)
5(t) 1

a als, Re[s] > 0

e /(s —a), Re[s] > a
sin at a/(s? 4+ a?), Re[s] > 0
cos at s/(s* + a?), Re[s] > 0

", n=1,2,3,... | nl/(s"), Rels] > 0

£t S (1)) - £(0)
) 2L} - s£(0) - S'(0)

O00. (5.7)00 LaplaceD 00O OODODODO.

O Laplace 00000000 DOO0ODOODODODOO,0000000O.
O0000D00O LaplaceD O, O Laplace DO DO OO ODODODOOODOOOO
O00,00000000000D0OO00O0O.

5.3 Laplace OO0 OO0O0n0

LaplaceOOODODOODO Table5.1 0000 0OO.
0000 LaplaceO O, Laplace D0 OO0 O0OOOOOOOODOODOO.

5.4 Laplacel 00 0O0ODOOOOOOOO OOOO

Laplace 00000000000 f(6)+f(1)=t00000 £(0)00,f(0) =2
oooooo.s
00000000000000 LaplaceD0 D00

S + ()} = £t (5.8)
gooooooooooooon,
SLLFI} = 57(0) = FO)+ £ (1) = 5. (5.9

S00000000 w=100000000000,000000000000000,000
OO0000oO00poooOo0. 0opooOoooooOo, Laplace0 0000000 OODODOOOO
gobooooogboooooo.
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ooo,
252 + 1 1 1
Ly} = ng'i‘ﬁ. (5.10)
0000 LaplaceD O OO
fle)y = L7 {%-l- ! } (5.11)
1
- e )

goooooooooooooooo,
f(t) =t +sint, (5.12)

gogo.

Laplace 000 DOOOOOOODOODODOOO,DODO00O0DOODOOOOOO
googoooooogobo. go,0bo0ooboooboooooboag,
0000000000000, LaplaceD0000OO0OO0OOOODOOO (5.10)00,
gobogobgobogobobbbobooooobg.



